MATHS

BOOKS - S CHAND MATHS (ENGLISH)

SAMPLE QUESTION PAPER 4

1If f(z) =

z — |z|

z] , then value of f( — 1) is
T

A1l

C.2



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bJbDPlxwXp3n

Answer: D

o Watch Video Solution

5
2.1f cos ecl = 3 then the value of tan 6 + cot @ is

A.11/25
B.12/25
C.25/11

D. 25 /12

Answer: D

N


https://dl.doubtnut.com/l/_bJbDPlxwXp3n
https://dl.doubtnut.com/l/_VMNEu3yX8wFF

| ¥ Watch Video >Solution

3.The value of tan225° is

° Watch Video Solution

is

4.The conjugate of

4 + 51
4 s
41 41
B, 2 4 2
41 41
54
41 41
SR
41 41

Answer: B

Vo


https://dl.doubtnut.com/l/_VMNEu3yX8wFF
https://dl.doubtnut.com/l/_TAcryj2LIYPR
https://dl.doubtnut.com/l/_kdimXzqnNxwP

\ ° Watch Video Solution

5.If a and ( are the roots of the quadratic equation

px? + gz + 1, Then the value of a8 + o?8% is

(o)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kdimXzqnNxwP
https://dl.doubtnut.com/l/_SBfqrd3jlwtp

6. The number of terms in the expansion of
(1+ 8y + 16y%) " is

A. 49

B. 50

C. 51

D. 52

Answer: C

o Watch Video Solution

7.Find the 12"term of a G.P. whose 8th term is 192 and

the common ratio is 2.


https://dl.doubtnut.com/l/_dJmQsXkD6JhQ
https://dl.doubtnut.com/l/_PwsgzTvqXNHo

A.3070

B. 3071

C.3072

D. 3073

Answer: C

o Watch Video Solution

8 If the vertices of a triangle are
(1,k),(4, —3) and ( —9,7) and its area is 15 eq.

units, then the value(s) of k is

A —3,21/13


https://dl.doubtnut.com/l/_PwsgzTvqXNHo
https://dl.doubtnut.com/l/_p61uzOKtePms

B.—3, —21/13
C.3,21/13

D.3, —21/13

Answer: A

o Watch Video Solution

9. The equation of the circle with centre (O, 5) and
radius 5 is

AG)z?+y*—10=0

B.(i)z? +¢y2+10=0

C.(ii)z? +y> — 10y =0


https://dl.doubtnut.com/l/_p61uzOKtePms
https://dl.doubtnut.com/l/_YC5oze61IysB

D. (iv) 2 + y2 + 10y =0

Answer: C

o Watch Video Solution

. Vi+ax—+/1—a |
10. lim is equal to

rz—1 1—|—£B

A. (i)

B. (ii)

S-Sl

<
<3l

C. (iii)

%

D. (iv)

Answer: B

| o


https://dl.doubtnut.com/l/_YC5oze61IysB
https://dl.doubtnut.com/l/_52hiSo8qtsLJ

l & Watch Video Solution J

1. In how many ways can a party of 4 boys and 4 girls
be seated at a circular table so that no 2 boys are

adjacent?

o Watch Video Solution

12. Differentiate z2 tan z.

o Watch Video Solution

13. Two cards are drawn at random from a pack of 52

cards. What is the probability that both the drawn cards


https://dl.doubtnut.com/l/_52hiSo8qtsLJ
https://dl.doubtnut.com/l/_TFaxLvl7c9Nm
https://dl.doubtnut.com/l/_kSsSZuX2pnw2
https://dl.doubtnut.com/l/_Pp3znvzRvlwP

are aces?

o Watch Video Solution

14. Find the value of x for which the points

(z, —1),(2,1) and (4, 5) are collinear.

o Watch Video Solution

15. Expand (3z — 2y)*

o Watch Video Solution

16. Show that ¢, {0} and O are all different.


https://dl.doubtnut.com/l/_Pp3znvzRvlwP
https://dl.doubtnut.com/l/_yQcbpavBcLE1
https://dl.doubtnut.com/l/_FANLa37V8hKk
https://dl.doubtnut.com/l/_wKCVIBudBbtI

o Watch Video Solution

17. Express {(z, y): 2> + y* = 25 where z,y € W} as a

set of ordered pairs.

o Watch Video Solution

18. In a AABC, if
/A =45°. /B = 60° and ZC = 75°, find the ratio

of its sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_wKCVIBudBbtI
https://dl.doubtnut.com/l/_oL0qMvUEQXJd
https://dl.doubtnut.com/l/_zl6OlKbredjZ

19.1f cos x = % and x is acute, find the value of tan 2zx.

° Watch Video Solution

20. about to only mathematics

o Watch Video Solution

21. Express (4 — 3i)® in the form (a + ib).

o Watch Video Solution

22. Solve the equation /3z® — /22 + 3,/3 =0



https://dl.doubtnut.com/l/_ktS7LXbFLtjI
https://dl.doubtnut.com/l/_CHSu6G2UpnI9
https://dl.doubtnut.com/l/_fq4G508tlw4F
https://dl.doubtnut.com/l/_cqXBbKVfSb3c

\ o Watch Video Solution

1

Vi + |z

23.Find the domain of f(z) =

o Watch Video Solution

24. Prove that

scx+s€e3x+seEdbr+s e Tx =4cosx cos2zsindx

o Watch Video Solution

tanx m .
25. If 5 = then write the the value of
n

msinx + n cos x-



https://dl.doubtnut.com/l/_cqXBbKVfSb3c
https://dl.doubtnut.com/l/_3oXzI0txfjsT
https://dl.doubtnut.com/l/_CBy8NS3KDaee
https://dl.doubtnut.com/l/_QfUeufI3NzYW

° Watch Video Solution

26. Prove the following using principle of mathematical

induction. 3***% — 8n — 9is divisible by 8.

o Watch Video Solution

z+1
r—1

27.Find the derivative of ( ) using first principle

of differentiation.

o Watch Video Solution

(vV1+ 3z — /1 — 3z)
28. Evaluate lim

z—0 xr



https://dl.doubtnut.com/l/_QfUeufI3NzYW
https://dl.doubtnut.com/l/_QsVnHl3iscI7
https://dl.doubtnut.com/l/_s7qVbVWMpteo
https://dl.doubtnut.com/l/_a0jyc9WNAryk

o Watch Video Solution J

a + b
29. If + 1y = rove that
T c+ id P
2 | p2
2, .n2_ a”+b
x” + =
( y ) C2 _|_ d2
o Watch Video Solution
, 3+ 2isinf
30. Find real 6 such that — is purely real.
1 — 2isinf

o Watch Video Solution

31. The sum of an infinite G.P is 57 and the sum of their

cubes is 9747 , then the common reatio of the G.P is



https://dl.doubtnut.com/l/_a0jyc9WNAryk
https://dl.doubtnut.com/l/_1UUWEmk5eBdh
https://dl.doubtnut.com/l/_zEK0pjG1C1Ik
https://dl.doubtnut.com/l/_csfDwLkkAVti

l QP Watch Video Solution ]

32. find the equation of circle which passes through the
points (2, — 2),and (3, 4)and whose centre lies on the

linex + y = 2.

o Watch Video Solution

33. Find the equation of the line parallel to y-axis and
drawn through the point of intersection of the lines

x—T7y+5=0and3x +y=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_csfDwLkkAVti
https://dl.doubtnut.com/l/_PkZY09bIxQhJ
https://dl.doubtnut.com/l/_vGoPHBECdJjy

34. Calculate the mean and standard deviation for the
following data: Wages upto (into Rs.), 15, 30, 45, 60, 75,
90, 105, 120 No. of workers, 12, 30, 65, 107, 157, 202, 222,

230

o Watch Video Solution

1. The distance between the directrices of the ellipse

z?2 Y .
%4—2—0:15

A. 16 units

B. 17 units


https://dl.doubtnut.com/l/_mCpBbMEyPoOh
https://dl.doubtnut.com/l/_T9IojowLYUcI

C. 18 units

D. 19 units

Answer: A

o Watch Video Solution

2.The ratio in which the line segment joining the points
(2,4, — 3) and ( — 3, 5, 4) divided by XY-plane is

A.3: 4 internally

B. 4 : 5 externally

C.2: 6 internally

D. 6 : 7 externally


https://dl.doubtnut.com/l/_T9IojowLYUcI
https://dl.doubtnut.com/l/_EJPZyzOkxnyi

Answer: A::B::C::D

o Watch Video Solution

3. Find the equation of the parabola with vertex at (0,0)

and focus at (0,3).

o Watch Video Solution

4. Find the equation of the hyperbola whose foci are

( + 3, 0) and vertices ( £ 2, 0).

° Watch Video Solution



https://dl.doubtnut.com/l/_EJPZyzOkxnyi
https://dl.doubtnut.com/l/_rD6aFMM0XHVE
https://dl.doubtnut.com/l/_LgAMVKvfcz60
https://dl.doubtnut.com/l/_2b50rwiQOmDt

5. Write the negation of the statement "New Delhi is in

India and Colombo is in Sri Lanka".

° Watch Video Solution

6. Check the validity of the following statement. If x and

y are odd integers, then xy is an odd integer.

o Watch Video Solution

7. Write the negation of the following statement. If |

become a doctor then I will open a hospital.

o Watch Video Solution



https://dl.doubtnut.com/l/_2b50rwiQOmDt
https://dl.doubtnut.com/l/_zdl2xieGS5yD
https://dl.doubtnut.com/l/_VXTlbqIFZWgd
https://dl.doubtnut.com/l/_A8wFk4vA2zX2

8. Show that the equation
3z? + 4y2 — 122 — 8y + 4 = 0 represents an ellipse.

Find the focus also

o Watch Video Solution

9. Find the equation of the hyperbola with centre at the
origin, the length of transverse axis 6 and one focus at

(0, 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_A8wFk4vA2zX2
https://dl.doubtnut.com/l/_uUo4bcG9gESj

10. Find the coordinates of the point which divides the
line segment joining the point, ( —2,3,5) and
(1, — 4, 6) in the ratio.

2 : 3 internally,

o Watch Video Solution

11. Find the coordinates of the point which divides the
line segment joining the point, ( —2,3,5) and
(1, — 4, 6) in the ratio.

2 : 3 externally,

o Watch Video Solution



https://dl.doubtnut.com/l/_JcI5gXt8qWJ3
https://dl.doubtnut.com/l/_ODQPSW4RG9fm

1. The salary of a person in the base year is ¥ 4,000 per

annum and the current year salary is ¥ 6,000. If the CPI

of the current year is 400, then rise his salary to

maintain the same standard of living will be

A.3 16,000

B.¥ 12,000

C.¥ 10,000

D.% 8,000

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0xgeJiCUZInJ

2. Median is always equal to

A. Q1

B. P75

C.D5

D. None of these

Answer:

o Watch Video Solution

3. Find the consumer price index for 2007 on the basis

of 2005 from the following data using weighted average


https://dl.doubtnut.com/l/_0xgeJiCUZInJ
https://dl.doubtnut.com/l/_yMa5auau2lsp
https://dl.doubtnut.com/l/_FW2Fpdz6NOCp

of price relative method:

Temonst220 153 | 13o4) Foodas o2 s ios o -ReRE co2 05| 11 0CIoMIIAL::] . Fuel
Price in 2005 {2)\ % 200 100 150 50
Price in 2007 (%) ¢ | 280 200 120 100
| Welght 75425557 30 20 20 10

o Watch Video Solution

4.Find the Q1 for the following distribution. 11, 10, 24, 19,

13, 21, 20, 14, 25, 15, 32, 30, 36

o Watch Video Solution

5. Compute Dj for the following distribution : 3, 13, 11,

1,5,4,2

o Watch Video Solution



https://dl.doubtnut.com/l/_FW2Fpdz6NOCp
https://dl.doubtnut.com/l/_vOCik1saABId
https://dl.doubtnut.com/l/_dQ2Pl18waWdX

6. For a group of 50 male workers, the mean and
standard deviations of their daily wages are¥ 63 and ¥ 9
respectively for a group of 40 female workers, these are
¥ 54 and ¥ 6 respectively. Find the mean and standard

deviation for the combined group.

o Watch Video Solution

7.Following is the distribution fo marks obtained by 50

students in a test.

Marks morethan 0 10 20 30 40 50
No. of Students 50 46 40 20 10 3

If 60% of the students pass the test, find the minimum

marks obtained by a pass students.

I o WMiakll. W\t daa Caliidklam


https://dl.doubtnut.com/l/_3C6LkLw9OLWT
https://dl.doubtnut.com/l/_vEUZ1BBTl0wB

L —vvdilll VIUCU JUIULIVIL

8. Find cov (x, y) for the following data :

r 3 45 6 7
y 8 7 6 5 4

o Watch Video Solution

9. Find the Karl Pearson's coefficient of correlation

between x and y for the following data:

z 16 18 21 20 22 26 27 15
y 22 25 24 26 25 30 33 14

o Watch Video Solution



https://dl.doubtnut.com/l/_vEUZ1BBTl0wB
https://dl.doubtnut.com/l/_Jrksuknx3zr5
https://dl.doubtnut.com/l/_pcBi44qKDF4H

10. The table given below shows the daily attendance in
thousands at a certain exhibition over a period of one

week.

Week Sun Mon Tue Wed Thur Fri sat
Attendance 52 48 64 68 52 70 72

Calculate three day moving average and illustrate these
and original information of the same graph using the

same scales.

° View Text Solution



https://dl.doubtnut.com/l/_qqr1yD3IeSmb

